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rs232¢j2(uint8(@CA',13,10]));
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academic_demo.m

clear all;close all;

COM = input(fi 3% COM F 5% AN L TLIZE0->"'s);

academic_init(COM);

figure(1);speed = 25;steer = 0;

ul = uicontrol(‘units','normalize',' position',[0.411,0.09,0.15,0.131],'string','s & &1 TB 44", horizontal', center");

u2 = uicontrol('units', normalize','position',[0.743,0.09,0.141,0.106],'string', 8 &5 IE");

u3 =
uicontrol(units', normalize', position',[0.091,0.407,0.356,0.072],'style', 'slider','min',-100,'max',100,'value',speed);

u4 = uicontrol(‘units','normalize',' position',[0.537,0.41,0.356,0.072],'style','slider','min',-100,' max',100,'value',steer);
ub5 = uicontrol(‘units',normalize','position’,[0.091,0.508,0.354,0.064],'style','text,'string',' 3 E % -100[%]- Ai
+100[%] + 20[%] 1 Z AR );

u6 = uicontrol(‘units','normalize','position',[0.537,0.508,0.354,0.064],'style','text','string',' # & £ -100[%]- £
+100[%] == 20[% ]I LA &)

u7 = uicontrol(‘units','normalize',' position',[0.147,0.768,0.299,0.07],'style','text','string','L");

u8 = uicontrol('units','normalize',' position',[0.594,0.765,0.299,0.07],'style','text,'string', R");

u9 = uicontrol(‘units','normalize',' position',[0.147,0.896,0.299,0.07],'style','text','string', SIAE I E (F#H) [rpml");
u10= uicontrol(‘units', normalize','position’,[0.594,0.896,0.299,0.07],'style', "text','string', SHfEH & (F#H) [rpml");
ull = uicontrol(‘units', normalize','position’,[0.091,0.308,0.354,0.064],'style','text','string',num2str(speed));

ul2 = uicontrol(units', normalize', position',[0.537,0.308,0.354,0.064],'style','text','string',num2str(steer));

ul3 = uicontrol(units', normalize','position’,[0.17,0.15,0.141,0.106],'style', radiobutton’,'string','3 #>[H','value',1);
ul4 = uicontrol(units', normalize','position',[0.17,0.05,0.141,0.106],'style', radiobutton’','string','5 #>[#";

ulb = uicontrol(units', normalize','position',[0.05,0.12,0.1,0.07],'style', text','string','7 € F{H");
set(ul,'callback’,'fprintf("Demo Start !!'¥n"),academic_ctrl2(speed,steer);academic_demorun);
set(u2,'callback’,'running = 0;);

set(u3,'callback’,'speed = floor(get(u3,"value");set(ull,"string", num2str(speed)));
set(u4,'callback','steer = floor(get(ud,"value"));set(u12,"string" num2str(steer))";
set(u13,'callback',['set(u13,"value", 1);set(ul4, "value",0);');
set(ul4,'callback',['set(ul4,"value",1);set(u13,"value",0);'D;

academic_init

function academic_init(COM)
rs232¢j2(COM,38400,8,2,0,0);
rs232¢j2(uint8(@CA',13,10]));pause(0.15);
data=char(rs232cj2([]));
fprintf(¥n%s¥n',data)

academic_demorun.m

if(get(u14,'value"),time = 5;
else time = 3;end
tics
running = 1;
while(running)
pause(0.1);
data = char(rs232¢j2([]));
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[I_rpm, r_rpm] = academic_getrpm(data);
set(u7,'string',num2str(l_rpm));
set(u8,'string' num2str(r_rpm));
demo_time = toc;
fprintf(demo_time = %f¥n',demo_time);
if (time < demo_time)
academic_ctr]2(0,0);
fprintf(Demo Finish¥n');break;
end
end
academic_ctrl2(0,0);

academic_ctrl2.m

function academic_ctrl2(speed, steer)

if speed < 0, spdsig = sprintf(-%03d', abs(speed));
else spdsig = sprintf('+%03d', abs(speed));end

if steer < 0, strsig = sprintf('-%03d', abs(steer));
else strsig = sprintf('+%03d', abs(steer));end

rs232¢j2(uint8('@CD',spdsig,strsig,13,100));

academic_getrpm.m

function [L_rpm, R_rpm] = academic_getrpm(SpdData)
if(length(SpdData) < 26)

L_rpm = 0;R_rpm = 0;

fprintf('Not enough data length !'¥n");

return;
end
RD = findstr(SpdData, @RD");
ifisempty(RD))
L_rpm = 0;R_rpm = 0;
fprintf('Not find @RD data !'¥n");
return;
end

Header = RD(end);

if (length(SpdData) < RD(end)+25),Header = RD(end - 1);end
R_rpm = str2num(SpdData(Header + 15:Header + 18));

if (SpdData(Header + 14) =="'"-'),R_rpm = -R_rpm;end

L_rpm = str2num(SpdData(Header + 20:Header + 23));

if (SpdData(Header + 19) =='"-'),I,_rpm = -L_rpm;end




